== 2240 HOMEWORK #9 prob 4 solution U
N. Cotter F13 '

Ex:

After being closed for a long time, the switch opens at 7 = 0.
a) Find an expression for iy (07).
b) Find an expression for iy (r) for 1> 0.

solhza) £=07: L = wire, switch is closed
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Since the L acts like a were, v (07) =0V
and ov (07) = OV, So the model stmplifies.
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We use +the rﬂenequ soln for RL circuits:
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where = L/Ry where Ry is for 70,

Swinee [, (3 an enerqy variable, it does not
change c(nstantly. Thus, ¢ (%) =, (07)= Us .
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For +£=o: [ = erveJ swuteh (s open
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The a\epahden—{: sourcde will be oV
since ’U‘L:OV, CLzlA)Ll“E).

I’L (£2c0) = Vg

Finally, we £ind R, for £20. We can Find
Ryh directly ky hooki,nrj a [V sourde-&j:» to
the ooH:Pu-b(wf\e're the L was connected) and
urning  off wvg,
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u"slnca the ﬂenemt Soln, we have our answer:
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